
1 SFS | Rainscreen Cladding | BFS-SLEEVE-5.0 | V01

All information is non-binding and without guarantee. Before using the products, all specifications and calculations 
must be checked by a suitably qualified person and local regulations must be observed. This document is subject to 
revision. We reserve the right to make technical changes.

5.
0

L

CL

D16

T20T20

Features and Benefits

•	 Aesthetical fixing suitable for installation of balcony panels onto metal tube
•	 Perfect fit of centering sleeve and pre-drilled tube given by ribs
•	 Safety against unwinding of the threaded sleeve given by the steel lock ring and spedcaps® coating
•	 Wide clamping range given by special cover sleeve with long threaded part

Fastener material

Fastener: Austenitic stainless steel A2

Centering sleeve: Plastic

Cover sleeve: Austenitic stainless steel A2

Approvals

BFS-SLEEVE-5.0

Documentation

Technical Data

Application

Fastening of cladding panel onto aluminium or steel tube

Component 1 (tI) Component 2 (tII)

Cladding panel – Steel ≥2.0

Aluminium ≥2.0

Pre-drill Ø 8.8

ETB geprüft

Bauteile, die gegen 

Absturz sichern.



2Rainscreen Cladding | BFS-SLEEVE-5.0 | SFS |  V01

All information is non-binding and without guarantee. Before using the products, all specifications and calculations must be 
checked by a suitably qualified person and local regulations must be observed. This document is subject to revision. We 
reserve the right to make technical changes.

Fastener in A2
onto aluminium and steel

Product code PU L CL

BFS/21-25-S-D16-M5X20-SLEEVE 100 20 21–25 1395666

BFS/26-30-S-D16-M5X25-SLEEVE 25 26–30 1365671

BFS/31-35-S-D16-M5X30-SLEEVE 30 31–35 1365679

BFS/36-40-S-D16-M5X35-SLEEVE 35 36–40 1395681

BFS/41-45-S-D16-M5X40-SLEEVE 40 41–45 1395682

BFS/46-50-S-D16-M5X45-SLEEVE 45 46–50 1395683

BFS/51-55-S-D16-M5X50-SLEEVE 50 51–55 1395686

BFS/56-60-S-D16-M5X55-SLEEVE 55 56–60 1395687

BFS/61-65-S-D16-M5X60-SLEEVE 60 61–65 1395688

BFS/66-70-S-D16-M5X65-SLEEVE 65 66–70 1395689

BFS/71-75-S-D16-M5X70-SLEEVE 70 71–75 1395690

Accessories/Ancillaries

Product code PU L Drive Head drive 

T20-25-HEX¼" 10 25 ¼" T20 769471

Bit holder ZA¼" 1 58 ¼" 1162306

Installed BFS-SLEEVE

Sliding point Fixed point


